EARAROBEEIERT — 2 N— IBISH —F 20185108148 (B) 9mEEf2H

m B2—# #3%—# (w8 | mEmml - |5 5 wm
[AE4£] 1% :350,000” ~ 23%&:81,000”  33%&:4500M  43%&:32,000MH .~ 57&:17,000 H
B BB mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
sy = ERRE :55. -3-3- . — REEM (KR)
i lglio|RYF—2 b o7 e 1(5_5)6 3-3-3-2 | 38.9 1 (4;3; fEn
LA TATv— BV vyF—FT—R b =Y Tr—LA
. < s . LIZAEE 8 :55. -11-11- . - I\#AFEER (KIR)
o l8l11 By NG IL—T 4 6 e 1(525)9 11-11-11-9 | 37.5 6 :?3) éﬂgﬁiﬁ?—
L:dr7—3UT7> B:XT TR FEEANS
> . 4 5 | HER 1:56.0 7-7-8-7 | 38.6| — 2 440 | FHES (KR)
3 6 avyhAar 56.0 (1/2) (-3) tEEET
L:xA1=gy—X B:HOrtEXai-)b =Y Ty—L
= > o ARFBE : -1-1- - N\iAZEER (KIR)
4 4| FIATERE=Z i 7 Al 1(.15/62.)1 1-1-1-1 | 39.5 7 (4323; i.%\tmz y
Y92G5 B:3yRyzA HE R
N $hR%h :56. ~6-6- . — EREAGAE (B%FE
5 7 UL I AYAT 4 6 ) (12516/25) 6-6-6-3 | 39.5 4 3050) i(EE?&%
Rixrvwhs/EEE BIUREZLNCT— N> T -5
5 # 5 | =A% :56.5 8-9-4-3 [39.7| — 3 494 | TEEE (KR)
6l7/8|7YT v b 56.0 ) (3) | REEALE
R:g/ T4 BU—URTLAZ J—HrIr—L
N R SiEm e . -8-0- — #HAEER (KIR)
7 ol TEm=LY 1 i o4 ik 1.(567>.4 9-8-9-8 | 40.0 9 (5_125) S
L:v07% BXA—RETLyY b Pz UL ¢
. — s = LA : 00— — AEEE (BRE)
slzlg| Tz F3—F17 i 4 o 1.(537).9 2-2-2-3 | 41.2 5 <4+325) e
R:ZRFAd=I K B:hIH-IWIR IS HEI77— L4
TS . 1010 _ +=MmF] 3
9 3| 7U—rFUF> 4 10 57?%& 1.(55%.7 10-10-10-11 40.7 i} ;137) 7§;d§§;7
R:E—T— B:hyTIF302810 IO%5
> = 4t 7 | PIERRMER 1:58.8 5-4-5-3 | 41.8| — 8 545 | fE2AER (KR)
10l5l5| bo¥avTI 2R 56.0 (3/4) (+6) | FTEHEX
R:ZRBF2—FTIUNFs B:V—&2bUPaY Fy o aIEEMASH T avi
E—y—7 B4 | EERE 1:59.4 3-5-7-10 | 42.1| — 10 | 491 | BtES (EH)
11)1]1 7 54.0 (4) (+2) IR
Ridr—3IUTL B:Fv4F K- J—HTr— L
@ 1 — S —EBlIEf
13=7r= 4,9,(1,10),5,7,6,8,2,3,11
2= = 4,9,10,5,1,7,6,2,8,3,11
Jol=5r= 4,9,10,8,5,7,1,6,2,3,11
40—+ — 4,10, (5,7,8,9),6,2,11,1,3
[ N3
B OB 10 320H 74K 10-11 750M & 8-8 1,710M 3EHE 6-10-11 2,600/
8 B 10 1504 6-10 420M B = 10-11 2,380 K31 10-11-6 14,450M
1" 240M 6-11 1,230M B H 10-11 3,480
6 150

ABTICOVTRDTEEERROODE, JHB LS,




